Algebra Problem Solving
Equations Involving Perimeter (part 1)
Name: _________________________________
Date: ______________
Period: _______
Draw the picture. Define a variable. Write an equation and solve. Show all steps.

1) The length of a rectangle is 3 times the width. The perimeter is 96 cm. Find the width and length. 

2) The length of a rectangle is 5 m greater than the width. The perimeter is 150 m. Find the width and length.

3) The width of a rectangle is 12 cm less than the length. The perimeter is 156 cm. Find the width and the length.

4) The length of a rectangle is 2 cm less than 7 times the width. The perimeter is 60 cm. Find the width and the length.
5) The perimeter of a triangle is 76 cm. Side a of the triangle is twice as long as side b. Side c is 1 cm longer than side a. Find the length of each side.

6) The first side of a triangle is 8 m shorter than the second side. The third side is 4 times as long as the first side. The perimeter is 26 m. Find the length of each side.

7) A triangular sail has a perimeter of 25 m. Side a is 2 m shorter than twice side b, and side c is 3 m longer than side b. Find the length of each side.

8) The triangle shown at the right is isosceles. That is, it     has two sides of equal length. The third side is 30 m shorter than twice the length of each congruent side. The perimeter is 570 m. Find the length of each side.
Algebra Problem Solving

Equations Involving Perimeter (part 2)
Name: _________________________________
Date: ______________
Period: _______
Draw the picture(s). Define a variable. Write an equation and solve. Show all steps.

1) The length of a rectangle is 3 times the width. If the length is decreased by 4 m and the width is increased by 1 m, the perimeter will be 66 m. Find the dimensions of the original rectangle.

2) The length of a rectangle is 6 cm longer than the width. If the length is increased by 9 cm and the width by 5 cm, the perimeter will be 160 cm. Find the dimensions of the original rectangle.

3) The length of a rectangle is 7 m less that twice the width. If the length is decreased by 1 m and the width by 4 m, the perimeter will be 66 m. Find the dimensions of the original rectangle.

4) The perimeter of a triangle is 69 cm. Side a is 5 cm shorter than side b. Side c is twice as long as side a. Find the length of each side.

5) The first side of a triangle is 7 cm shorter than twice the second side. The third side is 4 cm longer than the first side. The perimeter is 80 cm. Find the length of each side.

6) The length of a rectangular field is 18 m longer than the width. The field is enclosed with fencing and divided into two parts with a fence parallel to the shorter sides. If 216 m of fencing are required, what are the dimensions of the outside rectangle? (See the diagram below.)
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